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1. The term 'Ecosystem' was proposed by 
(a) Odum 
(b) Tansley 
(c) Mobium 
(d) Forbes 
 
2. A man-made ecosystem is 
(a) less in diversity 
(b) more in diversity 
(c) man does not make ecosystem 
(d) more stable than natural ecosystem 
 
3. Example of nano-ecosystem 
(a) Forest 
(b) Aquar ium 
(c) Biosphere 
(d) Pond 
 
4. Composition of organic matter  in soil is 
about 
a) 20%  
b) 5%  
c) 10%  
d) 15%  
 
5. The group of plants which survive under  
unfavourable, Seasons in the form of seeds 
are known as 
(a) Therophytes 
(b) Phanerophytes 
(c) Chamaephytes 
(d) Cryptophytes 
 
6. Herbivore of an ecosystem is called 
(a) producer  
(b) Consumer  
(c) Decomposer  
(d) Carnivores 
 
7. Decomposers are  
(a) Autotrophs/  

(b) Heterotrophs 
(c) Reducers 
(d) Autoheterotrophs 
 
8. Fragmentation of detr itus is done 
by………? 
(a) Cat 
(b) Rabbit 
(C) Cockroach 
(d) Ear thworm 
 
9. The phenomenon of incorporation of 
nutr ient in living microbes is called? 
(a) humifications 
(b) Nutr ient immobilisation 
(c) Mineralisation 
(d) None of these 
 
10. Decomposers are r ich in……. 
(a) acidic soil 
(b) alkaline soil 
(c) neutral soil 
(d) more acidic soil 
 
11. The term ‘Ecology’ was fir st coined in 
1869 by 
a) Odum 
b) Malthus 
c) Haeckal 
d) Hilaire  
 
12.The term ‘Bioecology’ was coined by 
a) Kar l Mobius 
b) St. Hilaire  
c) Shelford and Clements 
d) Both (a) and (b) 
 

1. 'पारिस्थिस्िकी िंत्र' शब्द स्कसके द्वािा प्रथिास्िि 

स्कया गया िा? 

(ए) ओडुम 



 

 3 

(बी) िानथले 

(सी) मोस्बयम 

(डी) फोब्सस 

 

2. मानि स्नस्मसि पारििंत्र है 

(ए) स्िस्िधिा में कम 

(बी) स्िस्िधिा में अस्धक 

(सी) मनुष्य पारिस्थिस्िकी िंत्र नहीं बनािा है 

(डी) प्राकृस्िक पारिस्थिस्िकी िंत्र से अस्धक स्थिि 

 

3. नैनो-पारिस्थिस्िकी िंत्र का उदाहिण 

(ए जंगल 

(बी) एक्िेरियम 

(सी) जीिमंडल 

(डी) पोंडो 

 

4. मृदा में काबसस्नक पदािों की संिचना लगभग 

होिी है 

a) 20% 

b) 5% 

c) 10% 

d) 15% 

 

5. पौधों का िह समूह जो प्रस्िकूल परिस्थिस्ियों में 

बीज के रूप में जीस्िि िहिा है, कहलािा है 

(ए) िेिोफाइट्स 

(बी) फेनेिोफाइट्स 

(सी) चामेफाइट्स 

(डी) स्िप्टोफाइट्स 

 

6. पारििंत्र के शाकाहािी जिंु कहलािे हैं 

(ए) स्नमासिा 

(बी) उपभोक्ता 

(सी) डीकंपोजि 

(डी) मांसाहािी 

7. डीकंपोजि हैं 

(ए) थिपोषी/ 

(बी) स्िषमपोषी 

(सी) िेड्यूसि 

(डी) ऑटोहेटिोट्रॉफ़्स 

 

8. अपिद का स्िखंडन ……… द्वािा स्कया जािा 

है? 

(ए) स्बल्ली 

(बी) खिगोश 

(सी) स्िलचट्टा 

(डी) कें चुआ 

 

9. जीस्िि िोगाणुओ ंमें पोषक ित्िों के शास्मल 

होने की घटना कहलािी है? 

(ए) humifications 

(बी) पोषक स्थििीकिण 

(सी) खस्नजकिण 

(डी) इनमें से कोई नहीं 

 

10. डीकंपोजि ……… में समृद्ध हैं। 

(ए) अम्लीय स्मट्टी 

(बी) क्षािीय स्मट्टी 

(सी) िटथि स्मट्टी 

(डी) अस्धक अम्लीय स्मट्टी 

 

11. 'पारिस्थिस्िकी' शब्द सबसे पहले 1869 में 

स्कसके द्वािा गढा गया िा? 

a) ओडुम 

b) माल्िस 

c) हेकल 

d) स्हलायि 

 

12. 'बायोइकोलॉजी' शब्द स्कसके द्वािा गढा गया 

िा? 

a) कालस मोस्बयस 

b) सेंट स्हलायि 

c) शेल़्डस औि क्लेमेंट्स 

d) दोनों (ए) औि (बी) 
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13. Which of the following element of 
environment is represented by 
lithosphere? 
a) Land 
b) Sea  
c) Air  
d) Soil  
 
14.The normal lapse rate of Troposphere is 
represented by lithosphere? 
a) 6.4oC /100 metre 
b) 5.5oC /100 metre 
c) 10oC /100 metre 
d) 6.4oC /1000 metre 
 
15. Detr itus food chain end up on 
(a) fungi 
(b) aquatic ver tebrate 
(c) insects 
(d) land ver tebrate 
 
16. In which of the following zone. 
Deciduous forests are found? 
a) Tropical 
b) Subtropical 
c) Temperate 
d) Antarctic 
 
17.Which of the following does not add to 
the adaptability and competitiveness of the 
organisms? 
a) Food web 
b) Trophic level 
c) Pyramid 
d) Food chain 
 
18.Leafhoppers, flies, beette are pr imary 
consumers in? 
a) Forest ecosystem 
b) Deser t ecosystem 
c) Grassland ecosystem 

d) Mar ine ecosystem 
 
19. Only gas present in stratosphere is? 
a) He 
b) Be 
c) O3 

d) N2 

 

20.In forest ecosystem, fungi is grouped as 
a) producer  
b) Consumer  
c) Secondary consumer  
d) Decomposer  
 
21.Most productive ecosystem is? 
a) Grassland 
b) Coral reefs 
c) Deep sea 
d) Ar id land 
 
22.Least productive ecosystem is 
a) Deser t 
b) Ocean 
c) Land 
d) Coral reef 
 
23.Carbon present in water  in the from of 
a) Carbon dioxide 
b) Carbon monoxide 
c) Bicarbonate 
d) Graphite 
 
24. Forms of carbon present in rock…. 
a) Carbonic acid 
b) CO2 

c) Graphite 
d) CO 
 

13. पयासििण के स्नम्नस्लस्खि में से कौन सा ित्ि 

थिलमंडल द्वािा दशासया गया है? 

a)भूस्म 

b) सागि 
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c) िाय ु

d) स्मट्टी 

 

14. क्षोभमंडल की सामान्य चूक दि थिलमंडल 

द्वािा प्रदस्शसि की जािी है? 

a) 6.4oC / 100 मीटि 

b) 5.5oC / 100 मीटि 

c) १०oC / १०० मीटि 

d) 6.4oC /1000 मीटि 

 

15. डेस्ट्रटस खाद्य श्ृखंला समाप्त होिी है 

(ए) किक 

(बी) जलीय कशेरुकी 

(सी) कीडे 

(डी) भूस्म कशेरुकी 

 

16. स्नम्नस्लस्खि में से स्कस के्षत्र में। पणसपािी िन 

पाए जािे हैं? 

ए) उष्णकस्टबंधीय 

बी) उपोष्णकस्टबंधीय 

सी) समशीिोष्ण 

डी) अंटाकस स्टक 

 

17.स्नम्नस्लस्खि में से कौन जीिों की अनुकूलन 

क्षमिा औि प्रस्िथपधासत्मकिा में िृस्द्ध नहीं कििा है? 

a) खाद्य िेब 

b) ट्रॉस्फक थिि 

c) स्पिास्मड 

d) खाद्य श्ृंखला 

 

18. लीफहॉपि, मस्क्खयााँ, चुकंदि प्रािस्मक 

उपभोक्ता हैं ? 

a) िन पारिस्थिस्िकी िंत्र 

b) मरुथिलीय पारिस्थिस्िकी िंत्र 

c) घास के मैदान पारिस्थिस्िकी िंत्र 

d) समुद्री पारिस्थिस्िकी िंत्र 

 

19. समिाप मंडल में केिल गैस मौजूद है? 

a) He 

b) Be 

c) O3 

d) N2 

 

20. िन पारिस्थिस्िकी िंत्र में, किक को इस प्रकाि 

िगीकृि स्कया जािा है 

ए) स्नमासिा 

बी) उपभोक्ता 

सी) माध्यस्मक उपभोक्ता 

डी) डीकंपोजि 

 

21. सिासस्धक उत्पादक पारिितं्र है ? 

a) घास का मैदान 

b) प्रिाल स्भस्ियााँ 

c) गहिा समुद्र 

d) शुष्क भूस्म 

 

22.सबसे कम उत्पादक पारिस्थिस्िकी िंत्र है 

a)कोई मरुथिल 

b) महासागि 

c) भूस्म 

d) कोिल िीफ 

 

23. से पानी में मौजूद काबसन 

ए) काबसन डाइऑक्साइड 

बी) काबसन मोनोऑक्साइड 

सी) बाइकाबोनेट 

डी) गे्रफाइट 

 

24. चट्टान में मौजूद काबसन के रूप…. 

a) काबोस्नक एस्सड 

b) CO2 

c) गे्रफाइट 

d) सीओ 
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25. Conversion of ammonium into nitrates 
processed by 
a) Pseudomonas denitr ificans 
b) Nitrosomonas 
c) Bacillus 
d) Clostr idium 
 
26.Each level or  step in a food chain where 
transfer  of energy takes place is called 
(a) trophic level 
(b) food web 
(c) food energy 
(d) pyramid 
 
27. In a trophic level a herbivore animal 
occupies which trophic level? 
(a) Ist 
(b) IInd 
(c) Intermediate 
(d) III rd 

 

28. Humans are 
(a) 1° consumers 
(b) 4° consumers 
(c) 2° consumers 
(d) 3° consumers 
 
29. Detr itus food chain begins from 
(a) detr itus 
(b) plants 
(c) herbivore 
(d) top consumers 
 
30. Which one of the following animal is 
called farmer’s fr iend? 
a) Ant /  
b) Ear thworm /  
c) Bee  
d) Butter fly  
 
31. Permissible concentration of residual 
chlor ine in dr inking water  in Mg/L is? 

a) 1.0 
b) 0.5 
c) 5.0 
d) 0.05 
 
32. Identify the non-renewable energy 
resource from the following: 
(a) Coal 
(b) Fuel cells 
(c) Wind power  
(d) Wave power  
 
33.A fuel cell, in order  to produce 
electr icity, burns: 
(a) Helium 
(b) Nitrogen 
(c) Hydrogen 
(d) None of the above 
 
34. Highly polluting industr ies comes 
under  the category? 
a) Pink 
b) Red 
c) Yellow 
d) Black 
 
35. What is the number  of radioactive 
element in per iodic table? 
a) 35 
b) 36 
c) 38 
d) 40 
 
36. Which of the following is a highly 
pollute the water? 
a) Arsenic 
b) Lead 
c) Magnesium 
d) Potassium 

25. अमोस्नयम का नाइटे्रट में रूपांििण स्कसके द्वािा 

संसास्धि स्कया जािा है? 
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a) थयूडोमोनास denitrificans 

b) नाइट्रोसोमोनास 

c) बेस्सलस 

d) क्लोथट्रीस्डयम 

 

26. खाद्य श्ृंखला में प्रत्येक थिि या चिण जहां ऊजास 

का थिानांििण होिा है, कहलािा है 

(ए) ट्रॉस्फक थिि 

(बी) खाद्य िेब 

(सी) खाद्य ऊजास 

(डी) स्पिास्मड 

 

27. एक पोषी थिि में एक शाकाहािी जानिि स्कस 

पोषी थिि पि िहिा है? 

(ए) इथिो 

(बी) स्द्विीय 

(सी) इटंिमीस्डएट 

(डी) IIIrd 

 

28. मनुष्य हैं 

(ए) 1 स्डग्री उपभोक्ता 

(बी) 4 स्डग्री उपभोक्ता 

(सी) 2 स्डग्री उपभोक्ता 

(डी) 3 स्डग्री उपभोक्ता 

 

29. अपिद खाद्य श्ृंखला प्रािंभ होिी है 

(ए) स्डटरिटस 

(बी) पौधे 

(सी) शाकाहािी 

(डी) शीषस उपभोक्ता 

 

30. स्नम्नस्लस्खि में से स्कस जानिि को स्कसान का 

स्मत्र कहा जािा है? 

a) चींटी / 

b) कें चुआ / 

c) मधुमक्खी 

d) स्ििली 

 

31. पीने के पानी में अिस्शष्ट क्लोिीन की अनुमेय 

सांद्रिा Mg/L में है? 

a) 1.0 

b) 0.5 

c) 5.0 

d) 0.05 

 

32. स्नम्नस्लस्खि में से गैि-निीकिणीय ऊजास संसाधन 

की पहचान किें: 

(ए) कोयला 

(बी) ईधंन सेल 

(सी) पिन ऊजास 

(डी) ििंग शस्क्त 

 

33. स्बजली पैदा किने के स्लए एक ईधंन सेल जलिा 

है: 

(ए) हीस्लयम 

(बी) नाइट्रोजन 

(सी) हाइड्रोजन 

(डी) उपिोक्त में से कोई नहीं 

 

34. अत्यस्धक प्रदूषण किने िाले उद्योग शे्णी में आिे 

हैं? 

ए) गुलाबी 

बी) लाल 

सी) पीला 

घ) काला 

 

35. आििस सािणी में िेस्डयोधमी ित्िों की संख्या 

स्किनी है? 

(ए) 35 

बी) 36 

सी) 38 

डी) 40 

 

36. स्नम्नस्लस्खि में से कौन पानी को अत्यस्धक 

प्रदूस्षि कििा है? 

ए) आसेस्नक 

बी) लीड 

सी) मैग्नीस्शयम 

डी) पोटेस्शयम 
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37. Which one of the following is not 
radioactive? 
a) Astatine/ 
b) Francium 
c) Tr itium/ 
d) Zirconium/  
 
38. Which of the following affect more 
Green house effect? 
1. CO2 2.N2 3. N2O 4. Water  vapour  
a) 1,3,4, 
b) 2,3,4 
c) 1,2,3 
d) 1,2,4 
 
39. The alpha-par ticles are: 
a) high energy electrons/  
b) positively charged hydrogen irons/  
c) high energy x ray radiations/  
d) double positively charged helium nuclei/  
 
40. Main Gaseous pollutant of thermal 
power  plants is? 
a) H2S 
b) NH3 

c) NO2 

d) SO2_ 

41.The process of formation of humus is 
known as 
a) Mineralization 
b) Mummifications 
c) Organization 
d) Transformation 
 
42.The factors influencing the rate of 
decomposition are 
a) Temperature 
b) Moisture 
c) Composition 
d) All of these 

 
43.The over lapping zone in between two 
ecosystem is known as 
a) Ecozone 
b) Bitope 
c) Ecotone 
d) Buffer  zone 
 
44. The upr ight pyramid of number  is 
absent in 
a) Pond 
b) Forest 
c) Lake 
d) Grassland 
 
45. Maximum contr ibution of 02 in the 
environment comes from 
a) Ocean 
b) Forest 
c) Grassland 
d) None of these 
 
46.Which of the following organisms form 
the decomposers? 
a) Pter is 
b) Bacter ia 
c) Saprophytic fungi 
d) Both (b) and (c) 
 
47.In a pyramid of numbers in a grassland 
ecosystem, the largest population is that of 
a) Producers 
b) Ter tiary consumers 
c) Secondary consumers 
d) Pr imary consumers 

37. स्नम्नस्लस्खि में से कौन िेस्डयोधमी नहीं है? 

a) एथटैस्टन / 

b) फ्ांस्सयम 

c) स्ट्रस्टयम/ 

d) स्जिकोस्नयम/ 

 



 

 9 

38. स्नम्नस्लस्खि में से कौन अस्धक ग्रीन हाउस 

प्रभाि को प्रभास्िि कििा है? 

1. CO2 2.N2 3. N2O 4. जल िाष्प 

a) 1,3,4, 

b) 2,3,4 

c) 1,2,3 

d) 1,2,4 

 

39. अल्फा-कण हैं: 

a) उच्च ऊजास इलेक्ट्रॉन / 

b) सकािात्मक रूप से चाजस हाइड्रोजन लोहा/ 

c) उच्च ऊजास एक्स िे स्िस्किण/ 

d) दोहिा धनात्मक आिेस्शि हीस्लयम नास्भक/ 

 

40. िाप स्िदु्यि संयंत्रों का मुख्य गैसीय प्रदूषक है? 

a) एच2एस 

b) एनएच3 

c) NO2 

d) SO2_ 

41.हू्यमस बनने की प्रस्िया कहलािी है 

ए) खस्नजकिण 

बी) ममीकिण 

सी) संगठन 

डी) परिििसन 

 

42. अपघटन की दि को प्रभास्िि किने िाले 

कािक हैं: 

िापमान 

बी) नमी 

सी) संिचना 

घ) ये सभी 

 

43. दो पारििंत्रों के बीच अस्िव्यापी के्षत्र को कहा 

जािा है 

ए) इकोजोन 

बी) स्बटोपे 

ग) इकोटोन 

घ) बफि जोन 

 

44. संख्या का सीधा स्पिास्मड अनुपस्थिि है 

a) सिोिि 

b) िन 

c) झील 

d) घास का मैदान 

 

45. पयासििण में 02 का अस्धकिम योगदान आिा 

है 

a) महासागि 

b) िन 

c) घास का मैदान 

d) इनमें से कोई नहीं 

 

46.स्नम्नस्लस्खि में से कौन सा जीि डीकंपोजि 

बनािा है? 

ए) पेरिस 

बी) बैक्टीरिया 

सी) सैप्रोफाइस्टक किक 

डी) दोनों (बी) औि (सी) 

 

47. एक घास के मैदान के पारििंत्र में संख्याओ ंके 

स्पिास्मड में सबसे अस्धक जनसंख्या होिी है 

a) स्नमासिा 

b) िृिीयक उपभोक्ता 

c) माध्यस्मक उपभोक्ता 

d) प्रािस्मक उपभोक्ता 
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48.The process of decay of dead organic 
matter  is known as 
a) Gentr ification 
b) Nitr ification 
c) Nitrogen fixation 
d) Ammonification 
 
49.Ozone depletion is occur r ing due to….? 
a) PCB 
b) GO 
c) PAN 
d) None of these 
 
50. One of the following is linked with 
greenhouse effect 
a) CFCs 
b) Freon and CH4 

c) CO2 

d) All of these 
 
51) Which of the following is related to an 
agenda 21? 
a) Montreal Treaty  
b) Rio Conference  
c) Kyoto Treaty  
d) POSOL-5 Summit  
 
52) World forest day is celebrated 
a) 10th January  
b) 21nd March  
c) 23rd May  
d) 7 December   
 
53) How many percentages of CO2 and 
argon are found in the atmosphere? 
a) 0.03 and 0.93 percent respectively /  
b) 1 and 2 percent respectively  
c) 0.23 and 0.97 percent respectively /  
d) None of these  
 

54) In which Indian state is the thickness of 
the ozone layer  is highest and where is 
lowest- 
a) Uttarkanchal-Assam  
b) Sr inagar -Tr ivandrum 
c) Rajasthan -Kerala  
d) Arunachal-Karnataka  
 
55) Which gas emitted from supersonic 
jets, dilutes the ozone layer? 
a) Carbon monoxide  
b) Sulfur  dioxide  
c) Carbon dioxide  
d) Nitrogen oxide  
 
56) The highest carbon dioxide emitting 
country is- 
a) China 

b) India 
c) Russia 
d) United States of Amer ica /  
 
57) According to the WHO list released on 
May 2, 2018, is the wor ld's most polluted 
city? 
a) Delhi (India 
b) Shanghai (China 
c) Tokyo (Japan 
d) New York (United States)  
 
58) What percentage of the amount of 
sulphur  in the green diesel is found? 
a) 0.001 
b) 0.01 
c) 0.1 
d) 1.00 
 
59) What is used in detergents to conver t 
the hard water  into soft water? 
a) Sodium tr ipolyphosphate  
b) Fluor ide  
c) Nitrate and Nitr ites  
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d) No one in the above  
 

48. मृि काबसस्नक पदािों के क्षय की प्रस्िया कहलािी 

है 

ए) जेंट्रीस्फकेशन 

बी) नाइस्ट्रस्फकेशन 

सी) नाइट्रोजन स्नधासिण 

डी) अम्मोनीस्फकेशन 

 

49.ओजोन रिक्तीकिण स्कसके कािण हो िहा है...? 

a) पीसीबी 

b) जाओ 

c) पैन 

d) इनमें से कोई नहीं 

 

50. स्नम्न में से एक ग्रीनहाउस प्रभाि से जुडा हुआ है 

a) सीए़सी 

b) फ़्रीऑन औि CH4 

c) CO2 

d) ये सभी 

 

51) स्नम्नस्लस्खि में से कौन एजेंडा 21 से संबंस्धि है? 

a) मॉस्न्ट्रयल संस्ध 

b) रियो सम्मेलन 

c) क्योटो संस्ध 

d) POSOL-5 स्शखि सम्मेलन 

 

52) स्िश्व िन स्दिस मनाया जािा है 

a) 10 जनििी 

b) २१ माचस 

c) 23 मई 

d) 7 स्दसंबि 

 

53) िायुमंडल में स्किने प्रस्िशि CO2 औि आगसन 

पाए जािे हैं? 

a) िमशः ०.०३ औि ०.९३ प्रस्िशि / 

b) िमशः 1 औि 2 प्रस्िशि 

c) िमशः 0.23 औि 0.97 प्रस्िशि / 

d) इनमें से कोई नहीं 

 

54) भािि के स्कस िाज्य में ओजोन पिि की मोटाई 

सबसे अस्धक औि सबसे कम कहााँ है- 

a) उििाखंड-असम 

b) श्ीनगि-स्त्रिेंद्रम 

c) िाजथिान-केिल 

d) अरुणाचल-कनासटक 

 

55) सुपिसोस्नक जेट से स्नकलने िाली कौन सी गैस 

ओजोन पिि को पिला कििी है? 

ए) काबसन मोनोऑक्साइड 

बी) सल्फि डाइऑक्साइड 

सी) काबसन डाइऑक्साइड 

डी) नाइट्रोजन ऑक्साइड 

 

56) सिासस्धक काबसन डाइऑक्साइड उत्सस्जसि किने 

िाला देश है- 

a) चीन 

b) भािि 

c) रूस 

d) संयुक्त िाज्य अमेरिका / 

 

57) 2 मई, 2018 को जािी डब्ल्यूएचओ की सूची के 

अनुसाि, दुस्नया का सबसे प्रदूस्षि शहि है? 

a) स्दल्ली (भािि) 

b) शंघाई (चीन) 

c) टोक्यो (जापान .) 

d) न्यूयॉकस  (संयुक्त िाज्य अमेरिका) 

 

58) हिे डीजल में सल्फि की मात्रा का स्किना प्रस्िशि 

पाया जािा है? 

a) 0.001 

b) 0.01 

c) 0.1 

d) 1.00 

 

59) कठोि जल को शीिल जल में बदलने के स्लए 

अपमाजसकों में स्कसका प्रयोग स्कया जािा है? 

ए) सोस्डयम स्ट्रपोलीफॉथफेट 

बी) फ्लोिाइड 

सी) नाइटे्रट औि नाइट्राइट्स 
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60) Which sound wave is used to measure 
the depth of the sea, give signal and detect 
hidden objects? 
(a) Ultrasonic sound wave  
(b)Infrasonic sound wave  
(c) Audible Sounds  
(d) None of these  
 
61) Labour  suffers from pulmonary dyes 
(Pneumoconiosis) 
(a) Leather  refiner ies  
(b) Glass industry  
(c) In wine shops  
(d) Coal mining industry 
  
62) Main reason for  the stone cancer  
(a) Acid rain 
(b) Global temperature  
(c) Brown hedge effect  
(d) Green House Effect  
 
63) Which city is named as smoke City of 
India? 
(a) Kanpur   
(b) Mumbai  
(c) Kolkata  
(d) Delhi  
 
64) In addition to water , solar  energy and 
green leaves, what else is required for  
photosynthesis? 
(a) hydrogen gas  
(b) Oxygen gas  
(c) nitrogen gas  
(d) Carbon dioxide gas  
 
65) Which of the following gas is produced 
in coal burning? 
(a) Oxygen and nitrogen  
(b) Nitrogen and carbon dioxide /  
(c) Carbon dioxide and oxygen  
(d) None of these  

 
66.Montreal protocol is related to the ? 
a) Protection of ozone layer  
b) Global Warming 
c) Climate change 
d) Bio diversity conservation 
 
67. which of the following is air  pollutant? 
1. Water  vapour  
2. CO2 
3. Hydrogen gas 
a) Only 1 
b) Only 2 
c) Only 3 
d) Both 2 and 3 
68.which of the following is not a air  
pollutant? 
(a) Hydrocarbon 
(b) Sulphur  dioxide 
(c) Carbon dioxide 
(d) Nitrous oxide 
 
69. the most ser ious air  pollutant causing 
health hazard is? 
(a) Sulphur  dioxide 
(b) Carbon dioxide 
(c) Ozone 
(d) Nitrogen oxide 
 
70.Acid rain is caused due to pollution of 
atmosphere by ? 
a) Oxide of nitrogen and phosphorous 
b) Oxide of nitrogen and sulphur  
c) Oxide of nitrogen and carbon 
d) Oxide of nitrogen and methane 
71. Non-biodegradable pollutants are 
creasted by 
a) Nature 
b) Excessive used of resoureces 
c) Humansd) Natural disasters 
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60) समुद्र की गहिाई मापने, संकेि देने औि स्िपी हुई 

िथिुओ ंका पिा लगाने के स्लए स्कस ध्िस्न ििंग का 

उपयोग स्कया जािा है? 

(ए) अल्ट्रासोस्नक ध्िस्न ििंग 

(बी) इन्फ्ासोस्नक ध्िस्न ििंग 

(सी) श्व्य ध्िस्नयां 

(डी) इनमें से कोई नहीं 

 

६१) श्म फुफ्फुसीय िंजक (न्यूमोकोस्नयोस्सस) से 

पीस्डि है 

(ए) चमडा रिफाइनरिया ं

(बी) ग्लास उद्योग 

(सी) शिाब की दुकानों में 

(डी) कोयला खनन उद्योग 

  

62) थटोन कैं सि का मुख्य कािण 

(ए) अम्ल िषास 

(बी) िैस्श्वक िापमान 

(सी) ब्राउन हेज प्रभाि 

(डी) ग्रीन हाउस प्रभाि 

 

63) स्कस शहि को भािि का थमोक स्सटी कहा जािा 

है? 

(ए) कानपुि 

(बी) मुंबई 

(सी) कोलकािा 

(डी) स्दल्ली 

 

64) पानी, सौि ऊजास औि हिी पस्ियों के अलािा औि 

क्या चास्हए प्रकाश संशे्लषण? 

(ए) हाइड्रोजन गैस 

(बी) ऑक्सीजन गैस 

(सी) नाइट्रोजन गैस 

(डी) काबसन डाइऑक्साइड गैस 

 

65) कोयला जलाने से स्नम्न में से कौन सी गैस उत्पन्न 

होिी है? 

(ए) ऑक्सीजन औि नाइट्रोजन 

(बी) नाइट्रोजन औि काबसन डाइऑक्साइड / 

(सी) काबसन डाइऑक्साइड औि ऑक्सीजन 

(डी) इनमें से कोई नहीं 

 

66.मॉस्न्ट्रयल प्रोटोकॉल स्कससे संबंस्धि है? 

a) ओजोन पिि का संिक्षण 

b) ग्लोबल िास्मिंग 

c) जलिायु परिििसन 

d) जैि स्िस्िधिा संिक्षण 

 

67. स्नम्नस्लस्खि में से कौन िायु प्रदूषक है? 

1. जल िाष्प 

2. CO2 

3. हाइड्रोजन गैस 

ए) केिल 1 

बी) केिल 2 

ग) केिल 3 

घ) 2 औि 3 दोनों 

68.स्नम्नस्लस्खि में से कौन िायु प्रदूषक नहीं है? 

a)हाइड्रोकाबसन 

b)सल्फि डाइऑक्साइड 

c)काबसन डाइआक्साइड 

d)नाइट्रस ऑक्साइड 

 

69. थिाथ्य के स्लए खििा पैदा किने िाला सबसे 

गंभीि िायु प्रदूषक है? 

(ए) सल्फि डाइऑक्साइड 

(बी) काबसन डाइआक्साइड 

(सी) ओजोन 

(डी) नाइट्रोजन ऑक्साइड 

 

70. अम्लीय िषास िायुमण्डल के प्रदूषण के कािण होिी 

है ? 

a) नाइट्रोजन औि फॉथफोिस के ऑक्साइड 

b) नाइट्रोजन औि सल्फि के ऑक्साइड 

c) नाइट्रोजन औि काबसन के ऑक्साइड 

d) नाइट्रोजन औि मीिेन के ऑक्साइड 
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72.Highly polluting industr ies comes under  
the category of? 
a) Orange 
b) Red 
c) Yellow 
d) Black 
 
73. Which of the following is a highly 
pollute the water? 
a) Arsenic 
b) Lead 
c) Magnesium 
d) Potassium 
 
74. Which component of a fer tile soil is 
reduced as the result of burning crops? 
a) Iodine–131 
b) Polonium–210 
c) Caesium–137 
d) Strontium–90 
75. Acid rain occurs in areas where 
(a) large plantation occurs 
(b) small plantation occurs 
(c) there are big industr ies and the 
atmosphere is polluted with SO2 

(d) there are no industr ies 

76. Which of the following is not cor rectly 
matched? 
Act year  
a) Biological diversity act. - 2002 
b) Environment protection act - 1986 
c) Air  pollution control act - 1981 
d) Water  pollution and control act – 1976 
 
77.In which ecosystem, grassland is 
included? 
a) Mar ine  
b) Freshwater   
c) Terrestr ial  
d) Ar tificial  
 
78.The natural environment refers to- 

a) The living organisms and non-living 
objects or  factors in an area undisturbed 
by human 
activity 
b) The atmosphere in a forest 
c) The plants and animals in a forest 
d) The atmosphere of an area-a forest, lake 
or  and oceans 
 
79.Which of the following is 
Biodegradable? 
a) Leather  Belts  
b) Silver  Foil  
c) Iron Nails  
d) Plastic Mugs  
 
80.The main pollutant responsible for  
Bhopal Gas Tragedy is- 
a) Methyl Isocyanate  
b) Bromine  
c) Chlorofluorocarbon  
d) Chlor ine  
 
81.Which of the following does not cause 
pollution? 
a) Burning of petrol  
b) Use of solar  energy  
c) Burning of rubber    
d) All of the above   
 
82.The method which is not used as 
biological control- 
a) Use of predators of a pest   
b) Pheromone traps  
c) Use of pesticides   
d) Use of neem extracts  
 

72.अत्यस्धक प्रदूषणकािी उद्योग स्कस शे्णी में 

आिे हैं? 

a) संििा 

b) लाल 
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c) पीला 

d) काला 

73. स्नम्नस्लस्खि में से कौन पानी को अत्यस्धक 

प्रदूस्षि कििा है? 

ए) आसेस्नक 

बी) लीड 

सी) मैग्नीस्शयम 

डी) पोटेस्शयम 

 

74. फसलों को जलाने के परिणामथिरूप उपजाऊ 

स्मट्टी का कौन सा घटक कम हो जािा है? 

 

a) आयोडीन–१३१ 

b) पोलोस्नयम-210 

c) सीस्जयम-137 

d) थट्रोंस्टयम-90 

75. अम्लीय िषास उन के्षत्रों में होिी है जहााँ 

(ए) बडे िृक्षािोपण होिा है 

(बी) िोटे िृक्षािोपण होिा है 

(सी) बडे उद्योग हैं औि िािाििण SO2 के साि 

प्रदूस्षि है 

(डी) कोई उद्योग नहीं हैं 

76. स्नम्नस्लस्खि में से कौन सही सुमेस्लि नहीं है? 

अस्धस्नयम िषस 

a) जैस्िक स्िस्िधिा अस्धस्नयम। - 2002 

b) पयासििण संिक्षण अस्धस्नयम - 1986 

c) िाय ुप्रदूषण स्नयंत्रण अस्धस्नयम - 1981 

d) जल प्रदूषण औि स्नयंत्रण अस्धस्नयम – 1976 

 

77. घास के मैदान को स्कस पारिस्थिस्िकी िंत्र में 

शास्मल स्कया गया है? 

a) समुद्री 

b) मीठे पानी 

c) थिलीय 

d) कृस्त्रम 

78. प्राकृस्िक पयासििण से िात्पयस है- 

a) स्कसी के्षत्र में िहने िाले जीि औि स्नजीि िथिुए ं

या कािक मानि द्वािा अबास्धि नहीं हैं 

गस्िस्िस्ध 

b) जंगल में िािाििण 

c) जंगल में पौधे औि जानिि 

d) एक के्षत्र का िािाििण-एक जंगल, झील या 

महासागि 

 

79.स्नम्नस्लस्खि में से कौन बायोस्डगे्रडेबल है? 

a) चमडे की बेल्ट 

b) स्सल्िि ़ॉइल 

c) लोहे की कील 

d) प्लास्थटक मग 

 

80.भोपाल गैस त्रासदी के स्लए उििदायी मुख्य 

प्रदूषक है- 

क) स्मिाइल आइसोसाइनेट 

ख) ब्रोमीन 

ग) क्लोिोफ्लोिोकाबसन 

घ) क्लोिीन 

 

81.स्नम्नस्लस्खि में से कौन प्रदूषण का कािण नहीं 

बनिा है? 

a) पेट्रोल का जलना 

b) सौि ऊजास का उपयोग 

c) िबि का जलना 

d) उपिोक्त सभी 

82. िह स्िस्ध स्जसका प्रयोग जैस्िक स्नयंत्रण के 

रूप में नहीं स्कया जािा है- 

a) कीट के स्शकारियों का उपयोग 

b) फेिोमोन टै्रप 

c) कीटनाशकों का प्रयोग 

d) नीम के अकस  का उपयोग 

83.The study of field crops is called- 
? 
a) Pomology /  
b) Agronomy /  
c) Oler iculture  
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d) Flor iculture  
 
84.The production of alcohol from organic 
compounds by micro organisms is known 
as- 
a) Combustion /  
b) Fermentation  
c) Anaerobic Respiration  
d) Aerobic Respiration 
  
85.Bio-diesel mostly produced by- 
a) Myr taceae  
b) Malvaceae  
c) Liliaceae  
d) Euphorbiaceae  
 
86.Which one of the following animal is 
called farmer’s fr iend? 
a) Ant  
b) Ear thworm  
c) Bee  
d) Butter fly  
 
87.Biodegradable wastes can usually be 
conver ted into useful substances with the 
help of 
a) Nuclear  Proteins  
b) Radio-Active Substances c) Viruses  
d) Bacter ia  
 
88.Stone cancer  occurs due to 
a) Acid rain  
b) Global warming c) Radioactivity  
d) Bacter ial action  
 
89.Which of the following is 
Biodegradable? 
a) Paper   
b) DDT 
c) Aluminium  
d) Plastic  
 

90.Cadmium pollution is associated with- 
a) Minamata Disease  
b) Black Food Disease  
c) Dyslexia  
d) Itai-Itai  
 
91.Carbon Monoxide poisoning can be 
cured by- 
a) Exposing the affected person to fresh 
oxygen 
b) Eating butter   
c) Dirking lemon-water  d) Consuming 
multi-Vitamin tablet  
 
92.Dur ing winter  season dormancy per iod 
of animals is called- 
a) Aestivation / b) Hibernation  
c) Regeneration d) Mutation  
 
93.The green manure is obtained from- 
 
a) Fresh animal excreta b) Decomposing 
green legume plant  
c) Domestic vegetables waste /  
d) Oil seed husk cakes  
 
94.Which of the following item is not 
included in Environmental Auditing? 
a) Pollution monitor ing schemes b) 
Scrutiny by the government agencies  
c) Safety provisions for  industr ial workers  
d) Storage of toxic chemicals  
 
 

83.खेि फसलों के अध्ययन को कहा जािा है- 

? 

a) पोमोलॉजी  

b) कृस्ष स्िज्ञान  

c) ओलेरिकल्चि 

d) फूलों की खेिी 
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84.सूक्ष्म जीिों द्वािा काबसस्नक यौस्गकों से 

अल्कोहल के उत्पादन को कहा जािा है- 

क) दहन / 

बी) स्कण्िन 

ग) अिायिीय श्वसन 

डी) एिोस्बक श्वसन 

  

185.बायो-डीजल ज्यादािि स्कसके द्वािा उत्पास्दि 

स्कया जािा है- 

ए) मायटेसी 

बी) मालिेसी 

सी) स्लस्लयासी 

d) यूफोिस्बयासी 

 

86.स्नम्नस्लस्खि में से स्कस जानिि को स्कसान का 

स्मत्र कहा जािा है? 

ए) अंिो 

बी) कें चुआ 

ग) मधुमक्खी 

घ) स्ििली 

 

87.बायोस्डगे्रडेबल कचिे को आमिौि पि स्कसकी 

मदद से उपयोगी पदािों में बदला जा सकिा है? 

ए) पिमाणु प्रोटीन 

b) िेस्डयो-सस्िय पदािस c) िायिस 

डी) बैक्टीरिया 

 

88.थटोन कैं सि स्कसके कािण होिा है 

क) अम्ल िषास 

बी) ग्लोबल िास्मिंग सी) िेस्डयोधस्मसिा 

घ) जीिाणु स्िया 

 

89.स्नम्नस्लस्खि में से कौन बायोस्डगे्रडेबल है? 

एक पेपि 

बी) डीडीटी 

सी) एल्यूस्मस्नयम 

घ) प्लास्थटक 

 

90. कैडस्मयम प्रदूषण संबंस्धि है- 

a) मीनामािा िोग 

b) काला खाद्य िोग 

c) स्डथलेस्क्सया 

d) इिाई-इिाई 

 

91.काबसन मोनोऑक्साइड स्िषाक्तिा को स्कसके 

द्वािा ठीक स्कया जा सकिा है- 

ए) प्रभास्िि व्यस्क्त को िाजा ऑक्सीजन के संपकस  

में लाना 

बी) मक्खन खाना 

सी) नींबू पानी को कम किना डी) मल्टी-स्िटास्मन 

टैबलेट का सेिन किना 

 

92. शीि ऋिु में पशुओ ंकी सुप्त अिथिा कहलािी 

है- 

a) सौंदयीकिण   b) हाइबिनेशन 

c) उत्िान d) उत्परिििसन 

 

93.हिी खाद प्राप्त की जािी है- 

 

a) िाजा पशु मल b) हिी फस्लयां पौधे को स्िघस्टि 

किना 

c) घिेलू सस्ब्जयां अपस्शष्ट / 

d) स्िलहन की भूसी की खली 

 

94.स्नम्नस्लस्खि में से कौन सी िथिु पयासििण 

लेखा पिीक्षा में शास्मल नहीं है? 

a) प्रदूषण स्नगिानी योजनाए ंb) सिकािी एजेंस्सयों 

द्वािा जांच 

c) औद्योस्गक श्स्मकों के स्लए सुिक्षा प्रािधान 

d) जहिीले िसायनों का भंडािण 
95.The rapidly growing mass of 
phytoplankton cover ing the sur face water  
of a lake or  pond is known as- 
a) Water  Pollution   
b) Water  Hyacinth  
c) Eutrophication  
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d) Water  Bloom   
 
96.Which of the following is/are cor rect? 
a) Wor ld Ozone Day: September  16  
b) Wor ld's Scenery Day: February 2  
c) Coventry Forest Day: March 21  
d) All are correct 
 
97.Which of the following is/are cor rect? 
a) Wor ld Water  Day: March 22  
b) International Ear th Day: Apr il 22  
c) Wor ld Tur tle Protection Day: May 23  
d) All are correct 
 
98.Which of the following is/are cor rect? 
a) Wor ld Environment Day: June 5  
c) Sunderbun Day: August 21  
d) All are correct 
 
99. Which one of the following impur ities 
is easiest to remove from wastewater? 
(a) Bacter ia 
(b) Colloids 
(c) Dissolved solids 
(d) Suspended solids 
100.Permissible concentration of residual 
lead in dr inking water  in mg/L is 
a) 1.0 
b) 5.0 
c) 0.01 
d) 0.03 

95. स्कसी झील या िालाब के सिही जल को 

ढाँकने िाले पादप प्लिक का िेजी से बढिा हुआ 

द्रव्यमान कहलािा है- 

a) जल प्रदूषण 

b) जलकंुभी 

c) यूट्रोस्फकेशन 

d) िाटि ब्लूम 

 

96.स्नम्नस्लस्खि में से कौन-सा/से सही है/हैं? 

a) स्िश्व ओजोन स्दिस: 16 स्सिंबि 

b) स्िश्व दृश्य स्दिस: 2 फिििी 

c) कोिेंट्री िन स्दिस: 21 माचस 

d) सभी सही हैं 

 

97.स्नम्नस्लस्खि में से कौन-सा/से सही है/हैं? 

a) स्िश्व जल स्दिस: 22 माचस 

b) अंििासष्ट्रीय पृ्िी स्दिस: 22 अपै्रल 

c) स्िश्व किुआ संिक्षण स्दिस: 23 मई 

d) सभी सही हैं 

 

98.स्नम्नस्लस्खि में से कौन-सा/से सही है/हैं? 

a) स्िश्व पयासििण स्दिस: 5 जून 

c) संुदिबन स्दिस: 21 अगथि 

d) सभी सही हैं 

 

99. स्नम्नस्लस्खि में से कौन सी अशुस्द्धयों को 

अपस्शष्ट जल से स्नकालना सबसे आसान है? 

(ए) बैक्टीरिया 

(बी) कोलाइड्स 

(सी) भंग ठोस 

(डी) स्नलंस्बि ठोस 

100. पीने के पानी में अिस्शष्ट लेड की अनुमेय 

सांद्रिा mg/L में है 

a) 1.0 

b) 5.0 

c) 0.01 

d) 0.03 
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ANSWERS 

 

 

 

1. b  31.b 61.d  91.a         

2. a 32. a 62. a 92. b        

3. b 33.c 63. c 93. b        

4. b 34.b 64. d 94. c        

5. a 35. c 65. b 95. c        

6. b 36. a 66. a  96. d        

7. c 37. d 67. b 97.d        

8.d 38. a 68. d 98.d        

9.b 39. d 69. a 99.d        

10.c  40. d 70. b 100.c         

11. c 41. b 71. c         

12. c 42. d 72. b         

13. a 43. c 73. a         

14. d 44. b 74. c         

15. d 45. b 75.c         

16. b 46. d 76. d         

17. d 47. a 77. c         

18.a    48. d 78. a         

19. c 49. c 79. a         

20. d 50. d 80. a         

21. b 51. b 81. b         

22. a 52. b 82. c         

23. c 53. a 83. b         

24. c 54. b 84. b         

25. b 55. d 85. d         

26. a 56. a 86.b         

27. b 57. a 87.d         

28. b 58. a 88. a         

29. a 59. a 89. b         

30. b 60. a 90. d         


